PHYSICAL SCIENCES

Wame & Signature of the Iovigtlator FAPER-I ICR Answer Sheel Mo ;
CHCT -1 402

.............................................. Rl Murmber inasords o

Time: 115 Houwrs| Mo, of IPrigted Fages @20 | Maximum Marks : 100
lastroctions for the Candidates

I Wrile wour Kol Mumber in the space pravided on ik fop o ks pape

3 TB#s paper ComssRs of B0y (S0 moliple choice tope questions, Adl qoesdioies. ars oompulagy

® At the gommenesrenlof cummanatimi the geestom buokler will B2 gien o condidats Is the e § o menerics, candiiliee 15 rajuesied

i open B Baokler apd cowqolaorily exoming i as holow

1 Tohaee peeess w e geestion boolled, tear ofF the paper seul an the wdpe f D oowgr page. Do niscageep s booklel wilkoa
efigker-seal and o eod socept am npen bookl)

{0} Taily the nussber ol pozes wed nambor of guestions i vhe heskled waalicthe i [enagicn pringed qm bz Sisvcr pape [Pkt
heask Il dise 1 prpesguestigns mesing o duphicale or nat i serial order ar amy ather decoepaney seould be ot replaced
immedsaiely by 2 porec) bouklet Do tlse eavdgilawr within ihe pesiod of frve mindes. Afberwands, ndither 1 guesian
bosckedel vall b replssad e A exiin tiwe skl be given

FITH] Al dhis verifegisn 1y over, Uhe besl bk Dol ik 8o lil by ewgiecd in dhe ICH anewer shed md the 107 Angwer Shee)
pumber should he entercd o rhae w3 hessk b

| Each icm s wysto Gour nhemanve mesporse marked GA L (Y 00 nmed (T The agsawver alwonbd he & capital letier dor the. selected
apLion. The ansoer et should endinely be containsd within the chrceponding squars

Carract st A Wirana mrethosd £

Yaur responses (o The ek oo this pepear ane bohe idecated oo e [OR Aomeace Shoeat imler SHper 0 ondy

Fend msirustiors given sl coclally

Bemph wisk g iy he S on e eewl ol the ikl i

il have sy setemm the priginal BB dneoer Sheat s the ovigilsos i jhe o ol the exmminabion comgpuibsurily el mids) fol i
ol wiihy you ouside the examinatiom bl e aees howeser, allowed &e carry duphicate copy’ ol 0K slige s kes) Boukler ai
s inn &0 1he exuminatioa

Q s black bafl goani peen

1

1

W

1] s of any Caboubaiors on K talies o0 any ifur clectmaic devices iz pichibved
I There shall be no pepalive eeking

12, In cec of ary dissepancy m Uinparatl md Unglsl vormdon of questsoms the Figluh sermiun shoald be daker a: final.

P LTe | ETETEET T _

i sl et A sl Al sl sl T s

P BERETE R S e AR E T ST AT BT ETRE WL TR ST e T

1 wflag- s petioet Bl ars A we=l gl sy S0aE . iy o Tl oyt Sriieei 3 Wb Fien el anel &2 Feniieimt L

e wdlas kg
G e e g A i e Qell s v ks alls ol bk sTus A e s e el weyfas
wll st ail Al - o _ ) -
(0 Bl Y N3 I g 1 s it Al ] s et Bl Sl i3] e, b e S L 3
AR 0 TR, St Sl 13 B % it sl A Al S e R Al 3 e an
seqyfn st ol i (1 Zas il e o ol ol e e st el 1l e w2 R A Wi BTl e
g, el Mt et L S - ST LD R YL L L Dl ] ]
(il ) A ie] A ML, B2 e R 1R T Al el s BR s e i Mg s
4 3l M HIE ALt TS A |1, 403 T a0 ) St e el e e i Bles qoia e gt s, vRs
wdg whiag ollen dee suds e Ay Al s fla asal,

=l Flat A w8l A A analel

SRR = R TR R T LR RS R TE RRTE TR W 16 SRR RE TR ER - UE: RO TR AL T

s L ile el ey e A )

) WA ] it Sl g 2 BN AR T

w2y Y ] 2 el i E e R wEi e F A Bt sl ad i gt sndaniig u Pl o il Al
el y ey e e s (et ey s s 1ok seansediell gRadha il il st el vl it i,

5. sz sl sl i ey i el

0, hesmelen A s s ARy il o el b

(TR TR R EERTE R . ) _

SR L A T BT e e e B CT A AL E LT A U T kR R D

S -l




LOGARITHMS

1 2 3 a 5 8 7 & @ Mada Dileroncen
2 3|a s 6|7 0 @

-

10 0043 | 0oge | 0128 | 0170 | 0212 | 283 {0294 0334 | 0974 |4 B 1217 21 25029 33 37
11 04583 MDE:'D-E»H! USGH | OG0T | 0648 | 0882 | 0718 (0788 |4 B 11]18 18 a0
12 DEZ8 | DEE4 | 08D [ 0234 | 0550 | 1004 1068 | 1072 | 11063 7 i0lis 17 24 283
12 VI3 ) 1206 | 1238 | 1271 | 1303 | 1385 1387 | 1909 | 143013 & 10012 15 1olea 26 20
14 1492 | 1823 | 1553 | 1564 | 1614 | 1044 | 1673 | 1703 (1732 |3 & B |12 15 18(21 24 27
18 1780 1848 | 1847 | 1875 | 1002 | 1901 | 1958 | 1ee7 2ot la & 811 14 1720 22 25
14 E0C5 | 2080 | 2122 | 3148 | 2175 | 2201 |oop7 | 2os3 foeme la 5 & 11 13 16/18 21 24
17 2330 | E300 | 2280 ) 2408 | 2430 | 24565 | 2480 | 2504 2528 12 5 T io 12 1517 20
18 2577 [ 2801 | >ezs | onan EE-??]EI:IEI'E EFIE | 2T4R (27012 S5 Tlo 12 1al1E8 19 04
% ZB10 | 2833 | 2966 § 2878 | 2000 | 2003 | 204s | 20y gega |2 4 7|9 11 131818
=q 3032 | 3054 | 3075 (3096 | 3118 | 3138 | 3160 | o1e1 [ss01 s 4 e 8 it 12517 1%
3| 3243 | 3263 | 5764 | 3304 | 3324 | 234a | 3088 | 3385 | 3408 2 4 B8 1442044 18 14
22 D444 | 3484 | 0483 § 3802 | 3522 | 2544 A0 | 3579 [ I698 |2 4 B8 10 12{14 15 171
23 3638 | 3655 | 3674 1 3392 | arviv | arze | avar | aren ATE4 12 4 AT 8 11134517
24 Bﬂmaaaﬂaaﬁuasmaﬂwmsﬁﬂmsmm:ns?sﬂmum
-] 3987 | 2074 (40371 | 4048 | 4065 | 4082 | 4099 | 4118 4133 (2 3 5|7 © 10012 14 15
26 4156 | 4183 | 4200 | 4216 | 4232 | 4240 | 4265 42p4 (4288 [2 3 S7 8 10017 12 15
ar mwm&mmasmn:mumusataunatnmn
8 wmatamm&mmmmzansauﬂmm
] 4539 [ 4634 | 2650 | 4883 | 4608 | 4713 | 47ee | aTen 4757 |1 2= 4(8 7 810121
T 4m4mu-=ﬂ1¢mimmmlmwmiaﬂﬂrimﬁt
| a1 1m4nu¢aﬁ5mn-mm?m11m_muxaa?amﬂw
{ 32 BOGS | 5079 | 5082 | 5108 | 5110 | Biaz [ 6148 | 5159 57211 3 4|5 7 & [9 1112
| 3 c1se | 8211 |s224 | 5237 | 5260 | 5263 15278 | 5269 (5302 |1 3 4.5 & 809 104
4 Emmnbmuaﬁu?Hﬁﬁﬂ‘lHﬂSﬂ!Mlsq-sEtimﬂ
a8 54\55.-5165HMHW&&DEH11-3H?E—EEE§EET1!45&?!1EH
3% uﬁum?umssﬂmzaaﬁsﬁmmnﬂ?u1zisﬂ?umn
a7 mamsﬂrﬁrzswmﬁ?ﬁamﬂm!?ﬂ_tﬂ&ﬁ&?ani
38 mmnmmammmmm'1za-5313af
k1 EDE'EEEE?-EEIMEHSEﬂﬂlﬂ??ﬁ'ﬂﬂﬂﬁmﬂtﬂ1ﬂ1234513ﬂ1
40 ﬂm1mmmmmmmmaur:aauunaﬂm
i1 G138 | Bi48 |10 | si17o | 8190 | eip | ez B212 [&23a01 2 al4 B Bl7 B g
42 aﬂsﬂusmﬂasﬂqmm'mdmaaumzatzaﬁﬁara-ﬂ
43 Eﬂﬁﬂﬂﬁ:ﬁE:HE-E-ETEEHEEEH&H&S-M15HE&1?H¢5E?EB
44 Muﬁﬁqﬂdﬂuﬂmmﬁﬁm&smﬁmv234ﬁuraﬂ
45 5542&551M1m1&m'mmmu1aizaqusruu
46 mmmmummwmumuﬁz1zad5a??a
47 Eranﬂ-?:mﬂfwnsﬂaﬁmmasrnsmmmnauszn&ns?a
&8 Eiﬂ:."lMmmannﬂmunaﬂuminaddnaru
] HH1'Iﬁﬁtﬂﬂmﬂﬂ?&mﬂﬂﬁsﬂﬂﬂ-MHM1‘IEEA-&55?£
o0 aaumvmmmnm&ammmm'mtz:aaq.suvn
51 TOud | 028 | Mo | 710 | 7118 [ 7ima | 7ias FH2 |62l 2 3ala 4+ 6l 7 8
2 na.ar'r'r..rﬁﬂ:snﬁamzmtﬂ:rzm?mrzmtzas-tsa:r
a3 ra.st?mrH?ﬂ?Emu?mamm?3&5?&1&12234533?
54 ?aaa'.-.'s-m?mmm4|mn|13&h?mm9&1zta4uﬁ67
5
o, kg ka. log
n= 314155 LTS mt-h;-px-tmr;-uqﬂx (1180 = 2 20058 1 [l
o= g TG 043429 by r=dg. ¥ Atiog x M=043429 187778

Phy, Sei.-11 2




LOGARITHMSE

4

T

Magn Diflarencas

=g

7404 | 7412

Fag2 480
7554 | Thiod
TE4 | TeAZ
PR TG
Frisz | FToe

7D | THED

TORE | B0

BiE6 | 2136

Byas § a2z
B2E1 | BRET
BI3256 | 8523

Ba51 | D457
B5§3 | 8519

BE3T | B0

#7551 | E¥EA

gees seSET SEENE BEGAY 43 d3dNY J20%% RLERZ 22835 2

i e

T4ST
7574
48

TTRG

TREE
THIE

BT
gi42

B0

B33g
B4

B5Eh
BSRS
il fLh
G704
BFEE

R
TEES

| asT

Fral
Fir0d

Tars
TEas

aidg
R215

:

10

SRR TR R

Td35

H13
JE8e
TEGd
Trod
YETD

RAED

7443

TS0
Fi=h
TETE

@aia

14
ST0E

e

aaTa

BITE
Q425
BaT4

BETI

wiiw
PEEE
73

Tahy

TEIE
TE12
robE

Foaz

TERS
Fora
a4
R hEt
B17Td

ariy

TaGE

TS

TH3H
a0

B118
aig2

B312
BITH

8361

SHETLE

:

3
g8

THER R

ik

T T

TEE1
ey
Pl |
TFr4
THLE

TEIT
Rar

- el BB N B

e e sk BB BRN NN PRRREN BRERNRN RKMNNR MOERE B

e e
BIPG RS D MIRI R PRI BA M PRI PA B2 R B R R RORS prREER BBRNME MBS ODeRw WREE e @s

R e
g1Em

e A B e

ke b e =

oood ooDoo el = A T A e e kil ek i e s e

.

PSRRI R R ey e e N

-

on 1]
EE W R

ABhE ABBEE AiEBRE BREERE hSELD MOAGED DA GEIR REmOA HEDD

BEWE e e ol DEE GUEHY VUMDY Wakbth habah Ahhda Ahboo 0o

BEME DDERNE DNNRNG O@eo e PRELDE PUEeR HRELD UBOEE AERERE kO
e DEGOL DUUEELE AAkEs KhbEh AhArA AaAGR Gramm R

Bh BB R EEE ARBeth NEEOO minththr OGO AREE Do®

kS
w

F L

loge” DABEd  O.BE3E
14,1374

bog et aEn?

Phy. Sei.-I1

Y
19020
ZaaTd

4
17372
EEC T

Z9™8
XA

3

L1

T

PENER 20401 34744
Aq047 48508 45286

[} 10
ZEOAT 43420
30913 BoETT

[P.T.0.]




ANTILOGARITHMS

3 4

B [

B -]

j Lid 2]
1026
1080
TOF4
o[-
112%
1154
ii7d
12085
1233
1292
i2a1
1327
135
1384
1418
1445

16817

ITEA
2818
R
bt 5 |
3020
e

1005
1028
1052
107rs
1o
112"
1153
1980
1208
1238
1285
1204
1324
1355
1387
1410
1452
1488
1527
1858
1582
1824
1687
170G
1744
1788
182a

18T

16974
Ta5e

2051
2144
2188

2365
2410

1007
plics]
1054
ore
1
1130
1159
1+83
1811
12¥8
1268
1297
1327
1358
130
I Find

1455
1485
1524
150
1886
1833
1871
R 1 ]
1750
17e1
1832
187E
1818
1862
b
2058
21064
2153 | 2188
EEPE E20E
2254 | 2209
B30T | 2ang
2380 | 2306
2418 | Sz
24TL | 24TT
2826 | 2858
2588 | pooq
2845 | 255E
ZM0 | T8
ZT7Ta | &Fea
238 | 2044
2804 | 2p1s
SETa | 28T
a4 | aods
B2 3118

1009
1033
&7
T
TI0F
113
T1&8
1188
1213
1242
LF Tl
1300
1330
1381
1303
1420
1458
1463
1528
1588 |-
1800
1837
1ars
1714
1754
1785
187
TErg
lg2x
888
20
2061 ]
g li-]

2
13635
1058
1084
1108
1135

1187

183
12148

1274
N0E

1385
1385
TE3
1462
14545
153

1604
1841
1579
174§
1768

1841
128

1872
2018

213

2183

‘223

2d1F
4T 1

2541

28

278
2051

=iy

a1ze

FHTEEE

1014
1038
LRr
1088
112
1138
1164
1191
1fig
1247
1276
1308
1237
1368
1400
1432
1464
LR
1848
1870

1iE

1040
1064
gl
1114

1187

1722

54T | 2553

SEREEEE

10

e i i B I e

. Se-I1

Antilogarithm Chant continue on page Mo.

i




PHYSICAL SCIENCES

PAPER-II

Note : This paper contains FIFTY (50) multiple-choice/Assertion and Heasoning

matching questions, each question carrying TWO (2) marks. Attempt All

quastions.

Hermite functions are useful in the study of :

(A] Electrostatic problems involving multipelar charge distribution
(B Harmonic oscillator in quantum mechanics

() Hydrogen atom in quantum mechanies

(D  Periodic potential problem in condensed matter physics

A sample of N atoms of He gas is confined to 1.0 cubic meter volume. The
probahility that none of the He atoms is in particular 1.0 x 1079 cubic meter

volume of the container is :
(A} 10° N (B) 1 - (08N
iy 1w NeN o (1- 1079

The determinant of a 3 x 3 real symmetric matrix is 36. If two of its

eigenvalues are 2 and 3, then the sum of the eigenvalues is :
(A 30 (B 10

(G 11 D 31

Phy. Sci-1l 5 [P.T.0.]




4. Let P ix) be the Legendre polynomial of degree n > 1. Then

1

I(l +2x) P, (x) dx

-1

is equal to :
1
G Bl g+ 1
e n+1
(€ an + 1 (D) 2n + 1

5. The dimension of the sub-space spanned by the real vectors

17 (2Y (0 2[1"!"'0'

0

is ;
(A} 2 (B B
{(C) 4 (m 5
8. According to Newton's second law of motion the force F in one-dimension
acting on a body of mass ‘m’ can be given as (When v is velocity and o is
acreleration).
du
A  e—
A} mo (B) m =7
- m £ m m v
- d.t I: . drz

" Phy. Sei.-11 (&




7. The moment of inertia of a cube (having length ‘o’ and mass M} about an

axis which iz passing through its centre of gravity and perpendicular to its

face is !
(A) Ma® (B) Ma
(C} Mg {D) Ma?
2 G
8. In the scattering theory, the unit of scattering cross-section iz the unit
of
(A) angle (B} area
(C) energy ¥  momentum

9, The length of the rod lin meter) moving with velecity 0.8e (e 15 velocity of

light and proper length of rod is 1 meter) can be given as ;
4) 1 (B 04

(C) 086 (D) 0.8

10. For conservative systems, the potential energy U does not depend upon

generalised velocity and hence :

A} w=0 B g =0
dy ou
© g, = ° ™ P

Phy. Sci.-11 7 [P.T.0.]




11. A point charge ‘¢’ is kept at a distance ‘d’ from the centre of a

neutral conducting sphere of radius ‘R’ (d > R). Which of the following

is frue 7

(A} The potential of the sphere is zero

o

(B} The potential of the sphere iz ane, d
; ) —q

{C}  The potential of the sphere is dne, R

D} The electric field inside the sphere is dependent on %¢" and

12.  The total energy density of a plane electromagnetic wave in vacuum

18 *

1 1
(A) -E-E._ﬂE2 (B) ﬁ-mﬂ*e.;.lﬂ2

(C) 2e,E2 M e E2

13.  The equation of a wave is given by :

s - -
¥ = A sin Err[? IJ

where A, T and A are positive constants. x and ¢ are the position and time

respectively. Which of the Fﬂ]luﬁing 18 frue for this wave 7

A
(A)  Amplitude iz 24 (B} Speed is -
ok V. .
(C) Speed is 7 (I Period is T
Phy. Sci.-1] R
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14.

16.

16.

17.

Phy. Sci.-1I

If an oil is

It is necessary to coat a glass lens with

wavelength of light in air is 4, the

a non-reflecting layer. If the

hest choice is a layer of a material

with refractive index n, lying between that of glass and air and with a

thickness :
(A i

! 4n
i
: 9

A
iB) =
n
t 2n

kept hetween the lens and glass plate in the Newton's ring

apparatus :

(A) The ring system remains unchanged
(B)  The ring system expands

(C) The ring system gets coloured

(D} ‘The ring system contracis

If {T}, (K}, {V) represent the mean values of the total, Kinetic and potential

energies, respectively, which is frue

i
{ 'T) = Wi
A =Ty
3 = ""rlll
iy (T) = {2 £

Which of the following is correet ?
Ay 1A LJl=0

@ L L]1l=0

= =]

for the hydrogen atom ?

(B) {T) = &{V)
@  {K} ==V}
(B) [LE L.l = ihL,
(T [Ll_. L:.'] =}

[P.T.0.]




18.

19.

20,

Eigen function of a rigid dumb-bell rotating about its centre is given
by w = Ae™* where ‘m’ is the quantum number and ‘A’ is a constant,

Which of the following values of ‘A’ will properly normalize the eigen

funetion 7

(A} Jox (By  on
1 E

{C) o (I o

A transition in which one photon is radiated by an electron in a
hydrogen atom when the wave function changes from y, to y, is forbidden

if wy and s ¢

(A} have opposite parity

(B)  are orthogonal to each other
(C}  are both spherically symmetrical
(D}  have different angular momenta

The wave function for identical fermions is antisymmetrie, Which of the

following is a eonsequence of this 7
(A} Fermi golden rule

(Bl Bohr's correspondence principle
(€} Heisenberg uncertainty principle

(D) Pauli’s exclusion principle

Phy. Sci.-1II 10




21. A black body is radiating at a temperature T = 2880 K. The ENETEY
emitted by this body with wavelength between 499 nm and 500 nm is U,
between 992 nm and 1000 nm is Uy, and between 1499 nm and 1500 nm
is Ug. The Wien constant is & = 2,88 x 10% nm K. Then :

Ay U; =0 Bl Uy=0
€y U;=Uy U > Uy
22, Consider a simple harmonic oscillator at a temperature T, with allowed
: 1
energy levels E, =h‘»‘(’1 + E]' fe = BT Y . The ratio of the
probabilities of occupying mth level to that of (m + 1)th level is given
T 1
h:rr .1.+'11‘.|1 ﬁ = FETJ
(A} A (B) P
) E—F.-'lv."t
(C) g Rhwi2 (D) =T
1

23.  Consider a system of spin 3 particles with magnetiec moment p each. In an
applied magnetic field H, the spin can either be parallel or antiparallel to
H, with equal probability. If there are 10 such independent particles, the total
number of microstates will be :

Ay glo (B) 107
(Cr 20 Dy 10
24, For the free paﬂ.i[‘.it-‘-ﬂ moving on a two-dimensional surface of area A, the
density of energy states is proportional to :
{4) E (B) E°
1 4
(€1 ge M g2
Phy. Sei.-1I 11 [P.T.O.]




95. For a photon gas in a black body enclosure, the chemical potential is :
{A) large and negative (B} large and positive
(C)  zero (D)  equal to Fermi energy

96, The conversion time of a 12-hit successive approximation ADC working at
500 kHz clock frequency is ¢
(A 11 ps (B} 24 us
(C) 20 ps (D 9 us

27. In a power supply the Zener diode is used for :
(A) Controlling the output eurrent
{(B) Regulating the oufput voltage
() Controlling the input voltage
(D}  Amplifying the input voltage

28. Which one of the following Boolean algebraic thesrems is not correct 7
(4) A+1=1 (B) A+ A=A
(€ A+B {A+B) =A D A+ A=0

96 A signal voltage from a high impedance source is to be connected to a
low impedance load. The most suitable transistor amplifier configuration that
can be used is :
{A) CE amplifier (B) €CC amplifier
{C} CB amplifier (I Differential amplifier

Phy. Sci.-1I 12
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0.

31,

32.

a3.

34,

The number of address lines required for a memory chip having 2048
locations is :

{Al 8 (B) 10
(Cy 11 () 13

To measure the pressure of the order of 107! torr, the appropriate
vacuum gauge is :

(A}  Mercury Manometer

(B} Bourdon Tube

(C)  Capacitance Manometer

(D) Hot Cathode lonization gauge

Shielding is provided for experiments involving generation and measurement
of small electrical signals. It is best achieved by :

LA} An enclosure of the copper sheets

(B} An enclosure of the p-metal sheets

{C)  An enclosure of the perspex sheets

(D) An enclosure of the cement sheets

An instrumentation amplifier is unique due to :
(A} Low input impedance-differential inputs
(B)  High input impedance-differential input
(C)  Low input impedance-single input

(D) High input impedance-single input

To design a temperature controller for & temperaturse range of —150°C to
TOOPC, the most suilable thermal sensor is

(A} Semiconductor Diode

(B}  Iren-Constantan thermocouple
{C)  Pt-Eh thermoesuple

D}  Thermister

Phy. Sei.-I1 13 [P.T.0.]




36.

36.

37.

39.

To remove the radio-frequency interference from a slowly varying signal, the

following is to be used :
(A) Differential amplifier (B) Integrating amplifier
(C) Low pass filter (D) High pass filter

The minimum wavelength of continuous X-rays in an X-ray tube

depends on :

(Al Potential difference between anode and cathode

Bt Nature of the target

() Temperature of the target

(D} Filament current

The atomic number of Sodium is 11. Its ground state configuration 1s :
Ay 18, (B) %8,

o) i m Py

The Larmor frequency of an electron in the ESR experiment depends

on =

(A} DC magnetic field

(B) Magnitude of ac field

(C) Magnitudes of dec and ac fields

(D) Frequency of ac field

A molecule is Raman active if there is a change in :

{A)} Electric dipole moment (B} Magnetic dipole moment

(C)  Electric polarizability Dy Viscosity
FPhy. Sci.-11 14




40.  As a star is moving away from the Earth, the spectrum produced by it on

the earth shows :
(A}  Blue shift (B}  Red shift
{C}  No shift () Enhanced intensity
41. The co-ordination number for bee lattice is -
Ay 2 (B) &
(C) 8 (I 12
42.  Considering erystal binding which one of the following is jonic crystal ?
(A} Kr (B} KI
{C) &i (D)  Phb
43. Which one of the following is a semi-metal 7
(A) Hg (B) Ph
(C) Li (D) B
44, Which one of the following represents defect ?
{A)  Colour centre (B)  Brillouin zone
(C)  Wigner-Seitz cell (I}  Primitive cell

45. In a solid when value of the chemical potential is equal to its Fermi energy,

the value of Fermi-Dirac distribution turns out to be :

(A} D (B) 1
1
(el 3 (D) e=
Phy. Sei.-11 15 [P.T.0.]




46. Which of the following is a nucleus, not associated with magic numbers ?
(A) PL208 B o0
() cat? oy 28
47. Which of the following elementary particles is considered as similar to the
electron 7
(A) Pion Bl  Muon
(C]  Proton (D)  Neutrino
48, The amount of snergy released in nuclear fission of one nucleus of U9 by
g thermal neutron, is approximately equal to :
(A 200 MeV (B) 20 MeV
(C) 2 MeV 2 GeV
49, The gquadrupole moment of a deuteron is the clue for :
(A) Short range nature of nuclear force
(B} Charge independence of nuclear force
(C} Tensorial character of nuclear force
(I Strong nature of nuclear force
50. Which of the following conservation lavs, was not challenged by the P-decay
process, prior to the introduction of neutrino 7
{A) Energy conservation
{B} Momentum conservation
(C) Charge conservation
Dy Angular momentum conservation
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